SUMPO SuMPO EPD SUMPOERIEIANINTOI I L

E P D _ — MR EEAY AT F IR HEEEE
.o ,,,,, 4T NIBIEEE (EPD) HRHT AR A 1-14-8
VERIFIEE KANDA SQUARE GATE
%ﬁ%% : JR-AI-24419E https://ecoleaf-label.jp

H5—LED#E & 1%

Color LED All-in—One Printer

at yourside M FC_L37800DW for Japan

DY —T %#=x <%t / BROTHER INDUSTRIES, LTD.

| ]
BEHNL BRES JR-AI-24419E
P EAPCREFS  PA-590000-Al-08
PCR# B A H g [ 8hk]
HENRERPE NS 2025%3A31H
WS i&E CIFRRIEF RIEE1EHE 202543824
FEATRIERE, £, B, ER - HREE, RIEA R VATLFEEA R
BEE- VY10 RIEES JV-AI-24419E
REEEEAR 2030438230
HAOB, TELK-F#Ex PCRLE1-DETE
A= : MFC-L3780CDW RERE 20235 98 1H
HEEH(EPT) ZER wils B2
5 (PR — AL EE AT AT S TIAR R AH)
-ENRIEEEE : 30ppm (h7-/E/90, A4) B=HIRE
-BRARETIR A4 NEPREEE B RRIE
7" Yrb/at -/2%vv/FAX/ B By EENRI/ADF
- IR/ B HRLAN ISO14025(HE 21K 5 & R UT -9 DML LIAREE
ARIEEE : 21.6kg. B © 3.5 kg OREB WAEB
KAREBAREAITTT, VAT LRAE BB ZERORIOS AR, YATLARIETLBEED
& BTER .
PLahE s
IIY-T KA
inml—ecoleaf-jimukyoku(at)brother.co.jp https://global.brother/ja

Zi#xES 1 JR-AlI-24419E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

SuMiPO

N ...E PD

1APAN

VERIFIED

SuMPO EPD
1T NBRBEES

(EPD)

EHRES ¢ JR-AI-24419E

O517Y1 )V R E T lifa R

SUMPOIRIESANINTOI S s
—MALEEAYRATFIINR EHEE R
R AEXAMHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

OHEERHRICEITZEMIER

ERBREOEERE (YFUA)

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 800 | kg-COzeq
2%1% | | |
R 051 kgS0zeq ok
HERHE 0.030 | kg-Sbeq
» DR EE QLR " QA
EOER-HEEE nOREE-UYAIIIL
AR I5H By &% OFEMERE QfE Qi |oEm-wrEE ORE-UFIL
SURZEH IPCC 2013 GWP 100a| kg-CO.eq | 8.0E+02 || 1.8E+02 | 16E+01 | 5.0E+00 | 55E+02 | 4.2E+01
Bt kg-SOzeq | 5.1E-01 1.6E-01 1.6E-03 8.1E-03 3.2E-01 1.9E-02
BRHEE kg-Sbeq | 3.0E-02 1.7E-02 4.2E-05 2.1E-05 1.3E-02 1.0E-05
@ =4k MBI RUMEICRIT 21
IER Eify wR-9E (ERES) By
FEERREER 3.3E+01 kg L 5.4E+00 kg
FFEARIRIF- 1.2E+04 MJ Sus 5.0E-01 kg
BEAREER 9.9E+01 kg TIVIZUL 3.5E-01 kg
BETRIRIF- 3.1E+02 M) otERE 4.0E-03 kg
KD E 8.9E-01 m? T3AF9Y 1.3E+01 kg
myN 1.5E-01 kg
A3 6.9E-01 kg
A 2.6E+00 kg
EEEBRER 8.8E-01 kg
Z0ft 1.3E+00 kg

BEAKEPH ). BEMEPIAM : 5. REFRIKE 1 13500084, FIRLAERSE (IKF-Y)
R ARARBEEFICEFAV BALLIRNF-25-T0I5 L4 ¢ Ver3.0, AR R (FA AL AT

- ISO/IEC 19798

©-1.ZDMDIRIFRIE IR

AE OB EEL TELLRO M - RUEBALAEEFISO14001BEEHFITHICTUITTHONTWET,

OERLEZRT-59DEZH

IDEA v2.1.3% U'SUMPOBRIEIAN FOJ5 L& $RIR B 1v1.18%E A LT,

®fF%E

OT-YHEEDFH L. PCRESVETE - EEREESRLTIZE,

OLLR(ONTR BEE - EEREICRESNRAEEHLLLEELLIEHONIEA.

(B BB5URL ! https://ecoleaf-label jp/regulation/)

EHFES ¢ JR-AlI-24419E



